Assembly Instructions

g
T

CAUTION:
Pls follow up the Al,when assemble the table leave your child away
Parts List
NO. Picture Description Qty
A E@ Chair Frame 1
B Chair Frame 1
C —_ Leg 2
D f \ Seater 1
E Mg*12MM SCREW 6
F 0) D M8*30MM SCREW 3
G M6*30MM SCREW 4
H B} 5MM ALLEN KEY 1
| g} AMM ALLEN KEY 1
J @ 8*20MM FLAT WASHER 9
K @ 6*15MM FLAT WASHER 4
L Tapping Screw 4
N @ Adjusting Foot 4




Assembly Preparation

Before Beginning Assembly

I
) B;

@D (@) 1

= &=
==

000
000

& I

® Read instructions,cover to cover-

S G
&&

@ e Do not assemble on flooring or carpet-

&1 e Assemble on a clean non-marring surface(packing foam)-
AT e Saveall packaging until finished-

Step 2

INSTALL LEG

Step 4

INSTALL ADJUSTING FEET AND SEATER TO ACCOMPLISH




	页 1
	页 2

